1. Deatermine, £ the Qollocol'ng 43umc-Hons are 1-4 or onto
@) F:zxz—2z | ‘PCCQ,Lm = 230—-2b.
® FPOO—PX) , F(R)= A AR where

X Is o n@n—m\b‘té set , PCX) s iks ?ower set

ond A C X s o Lixed sabset of X .

(M . Problem 5, HW Due on Maa 3 av\A Co(a&Je_r ‘?o‘(')')
Q) PO —Pay), FR) = AR cher

X s o V\Qﬂ"-@n'\)‘lg Se‘l: , (PCX) is Hs ?oooer\seﬂ:
ond & £ A % Y s oo Pived Proper, %-&T{SSMES&
o X (Hirt: ) ¥ K CA, then ANA=A .

@ F* xeX\A , then @t\)%)@ﬂA:A )

2. Funchins P R—=R and 3;1R—MR ore dedired as Follows .

ﬁ’x-rz Foxe-1
- X * o —lexst

| X-2 d xo1



xX-2 3 x<-1
goo = |

- \-S -d<x<i

X +2 * x4

TFind the Punctions %8 and qof. Ts g‘H\Q inverse. o Pg
Is + injeckive or surjective @ oo dbout g 2

Sketch and Compare. the qraphs oF these Punchions .

3. Let BXY and Y% be fun Funchions . Suppose. -
?-ocaoft{l ond. %Q{”—og =9 Prove that + & 1-14= g orto.
(Hink + Use the Raleaing resubl tat e proved i e closs:

PXx—Y . g:Y—X, Fogof=F and qoPog =1+
. Ton(g) —> () and g, = Tm () Im@) st
By =%00  ond 9, () =90

“Then ¥ 9, = Ilmd?) and 9 oh =1 T
packicalar #, and 9 o bijections.)

In the rest of problems, properhes R F and T
are l’nves‘l’iaa":'ecl . Let X and Y be '\on-emecB sets

ond £:X—Y be a Runctin .



4. @CPQNQ, or c\\s?ro\/e,: Avs E|,B?_Q\\/, ‘B\QB;_=}$CB\) Q?(%l\.
(b) Pove. o disprowve: ¥ B, BCY, T(anez\f?@nﬁcezx-

©) Pove or o\\s?mve,t VA A2 X ,—P?(A\(\AZ\ :?CA‘Y\—Q?CAQ
5. YACSX, AcE(EHY.

) VB CY, —f(?(%)) =B -

6 TP T od F.P.T_T

CHl'nJC; Use Problem 5)

—

¥.f s \'né’ecjcfve — + s |h3eC‘\:(‘ve_ < $ \S Sur‘é'e,cjcfve.
(l_-\it' Us»e,fproblem&B and G.>

%Le;\: Z be a nav\—e,m’]){'g SQSL‘ Omcl 8:\\/—92 LTQ,
G -EW\GJCme. Prive  thdt

CC\) gop = —gPO?
(b) go_{? = é{z‘og . (Hwt. e ?(&B) < FoyeB.)




